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Numeracy National 5 Revision 2
Forfar Academy seniors are organising their final school fling. All seniors have agreed that they will stay in the hotel for 3 nights (this includes the night of the final fling). The suggested weekend is June 12th-15th. The pupils will travel to the prom via coaches. The coaches will return to pick them up on Monday the 15th of June.  The school has recommended standard coaches to keep costs to a minimum. 
The final fling committee got 47 slips back from pupils wanting to attend the final fling. 29 pupils will be under 18 and the rest are 18 or 19. 
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The adult to pupil ratio must be 1:9.  All staff attending the trip are over 30 years old and under 60 years old.

The location of the hotel is 26 miles from Forfar.

Accommodation (price per person per night)

	
	May/Jun
	July/Aug
	Sept/Oct

	Adult
	£53
	£87
	£70

	Young Student (18 - 21)
	£36
	£72
	£63

	Child (Under 18)
	£28
	£68
	£59

	Senior Citizen (60+)
	£33
	£68
	£59


Coach Price

	Carriage
	Journey ≥20 miles
	Journey < 20 miles

	Standard 40 seater (single)
	£385
	£267

	Standard 60 seater  (single)
	£598
	£473

	First Class 40 seater (single)
	£725
	£695


Q1. Use the data provided above to answer the following questions.

(a) What is the minimum number of adults required to attend the final fling and stay over for the three nights?

(b) Calculate the total cost of travel and accommodation?

(c) The school fund has agreed to pay 16.5% of the final fling as a thank you to senior pupils.  The pupils have agreed that they will pay for the teachers attending as a way of saying thank you. How much will the pupils each have to pay each to cover the remaining cost of the trip? Give you answer to the nearest penny.

(d) The overall price of a grad ball weekend ticket for pupils over the past few years has been shown in the following table:
School Price
	Year
	2011
	2012
	2013
	2014

	Ticket Price
	120.20
	90.50
	£98.70
	£102


(i) Calculate the percentage decrease in price of the tickets between 2011 and 2012.

(ii) It has been said that the percentage increase in price between 2012-13 is almost double the percentage increase between 2013-14. Is this true? Justify your answer.

(iii) 2/3 of the seniors boys that attend the ball tend to wear kilts. If 7 boys were wore suits last year. How many boys were at the final fling in total?

(e) The table below shows where the pupils from 2013 got their outfits for the final fling. The results were as follows:
	
	Girls
	Boys
	Total

	Online
	9
	10
	19

	Shop
	13
	18
	28

	Custom Made
	3
	12
	18

	Totals
	25
	40
	


“Most girls tend to get their dresses from shops and the majority of boys also get their kilts/suits.”

Why is this statement technically not accurate? Use statistics to justify your answer.
Solutions
1(a) Answer = 6 members of staff.

47 divided by 9 (ratio 1:9) = 5.2222 therefore we require 6 members of staff
(b) Total Cost = £6530 (£5334 + £1196)
Travel
Journey greater than 20 (26) miles and we need standard coach to transport 53 people 

£598 x 2 for return = £1196
Accomodation

Adult

6 adults x £53 = £318 x 3 nights = £954

Child

29 pupils x £28 = £812 x 3 nights =£2436 

Young

18 pupils x £36 = £648 x 3 nights = £1944

Total cost of accommodation = £5334 (954 + 2436 + 1944)

(c) Cost per pupil = £116.01 * (note due to rounding this will not cover total cost £116.01 x 47 = £5452.47 therefore £0.08 will need to be sourced from somewhere)
Amount paid by school fund 16.5% of £6530 = £1077.45
Amount to be shared by 47 pupils (£6530 – £1077.45) =£5452.55

Amount paid by each pupil £5452.55 divided by 47 = £116.011

(d)

(i) Answer 24.71%
Price Drop between 2011 and 2012 

120.20 – 90.50 = £29.70
Percentage price drop

Diff/orig x 100

29.70/120.20 x100

=24.71%

(ii) Answer – the percentage increase in 2012-13 (9.06%) is more than double the percentage increase in 2013-14 (3.34%)
Percentage increase 2012-2013 =

Diff/orig x 100

Diff (98.70-90.50) = £8.20

8.20/90.50 x 100 = 9.06%
Percentage increase 2013-2014 =

Diff/orig x 100

Diff (102-98.70) = £3.30

3.30/98.70 x 100 = 3.34%
(iii) Answer 21 boys
2/3 wear kilts therefore 1/3 wear suits. If 1/3 of an amount is 7 then 3/3 will be 21 boys
(e) Answer
